Exemplar Problem
Matrix and Determinants

34. If A and B are invertible matrices, then which of the following is not correct?
AadjA = |A]. A7}

Bdet(A)™! = [det (A)]™

C(AB)"' =B~ IA™!

DA+B) '=B!1+A"!

Ans: The correct answer is option D.

Since, A and B are invertible matrices. So, we can say that

(AB)' = B~147! itiscorrect
1
Also, A™! = m(adj A)
sadj A =|A|.A7} itiscorrect
AndAA"l =1
=A™l =i
=]Al. A7 =1
1
—1 _
=

= det(A)™ = [det (A)]_1 itiscorrect
Now,(A + B) ! =B~ 1+ 471
LHS=(A+ B)~!

1 .
= |A+B|(ad]A+B)

RHS=B"!+A~!
1 1
= —(adj B) + —
|B| |A]

Thus, L.H.S # R.H.S itisincorrect

(adj A)

Hence, option D is the correct answer.




